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1 (a) (i) Navy Island, 
 
  (ii) point of interest, 
 
  (iii) A, 
 
  (iv) woodland, 
 
  (v) post office/postal services, 
   church/religion, 
   school/education, 
   factory, 
   health centre/health care, 
   (two services = 1 mark) 
 
  (vi) linear, 
 
  (vii) meander/loop/bend, 
 
  (viii) Foxes River, 
 
  (ix) banana, [9] 
 
 (b) flat/gentle 

shelter/natural harbour, 
jetty, 
(sheltered by) headland/reef. 
gap in reef, 
road junction, 
railway, 
agricultural hinterland, 
factory/power station, 
court house/postal agency, [5] 

 
 (c) (on cross section) [3] 
 
(d) (i) north-west, 
 
 (ii) 040730, 
 
 (iii) 3300 – 3600 (metres), [3] 
 
2 (a) (i) Edenhall, [1] 
 
  (ii) 201 – 209 mm, [1] 
 
  (iii) -6 oC, [1] 
 
  (iv) Keswick, [1] 
 
 (b) rainfall, 
  both temperatures, [2] 
 
 (c) onshore winds, 
  relief rainfall (at Keswick and Ambleside), 
  rainshadow (at Penrith and Edenhall), [2] 
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3 (a) valley, 
  steep slope/cliff, 
  gentle slope/slip-off slope, 
  river channel, 
  winding (valley/channel)/interlocking spurs, 
 
 (b) Ayellow/brown vegetation/grass, 
  bare ground, 
  scrub/bushes, 
  dry river, 
 
  Bgreen vegetation/grass, 
  thick/long grass, 
  tree, 
  river/stream 
  Reserve one mark for drainage [5] 
 
4 (a) 48% [1] 
 
 (b) (i) 2 correct lines at 1 each 
   key must be correct [2] 
 
  (ii) One axis correct = 1 
   All correct = 2 [2] 
 
 (c) Primary 
  more in developing/less in developed, 
  or 
  developing: B 58%/E 56% + developed: UK 4%/USA 8% 
 
  Secondary 
  more in developed/less in developing, 
  or 
  developed: UK 48%/USA 40% + developing B 15%/E 8%, 
 
  Tertiary 
  more in developed/less in developing, 
  or 
  developed: UK 48%/USA 52% + developing B 27%/E 36% [3] 
 
5 (a) 1,     [1] 
 
 (b) line and key correct,    [1] 
 
 (c) Two correct bars,    [1] 
 
 (d) Middle East, 
  North America, 
  Africa, 
  global warming, 
  wind/wave/geothermal/solar,    [5] 
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6 (a) near village noise/pollution,) 
  near city noise/pollution,      ) near settlements alone = 1 
  need to bridge river, 
  no junctions,    [2] 
 
 (b) (i) Q2 near motorway/Q1 away from motorway, 
   Q2 less transport costs/Q1 more transport costs, 
   Q2 road access/Q1 no road access, 
   Q2 away from settlement/Q1 close to settlement, 
   Q2 no noise hazard/Q1 noise hazard, 
   Q2 no dust hazard/Q1 dust hazard, 
   Q2 no road traffic hazard/Q1 lorries through village, 
   Q2 no flooding/Q1 close to river therefore flooding possible, [5] 
 
  (ii) waste disposal, 
   any recreational use, 
   any environmental use, e.g. wild life reserve 
   housing, 
   industry,    [1] 
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